[Effici

ency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015

0.01

0.005

1.0

Ratio

iy
s
A,

- e T - -

0.95L : :
1072 10 1

Efficiend

—— DOQM_V0001_R000000001__Global

10 0?
TP vertr (cr%)

figmal_RECO

—=— DQM_VUUUI_RUU0U0U0000T__Global__mKFITO! |
—e— DQM_V0001_R000000001__Global__mkFitNewDett_RECO
—— DQM_V0001_R000000001__Global__mkFitNewDett33__RECO

mkFitNewDetNoF _ RECO

~ 0.1
20.09

[

2 0.08
>

2
90'07 1 : . : .
2 A
S s S B At
(] . . . .

0.05§r

0.04

..............................

003 il oo JH L
s S
0.01fr--- %4 h%:--.--.;---,:------ﬂ

=30 -20 -10 0 10

20

30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.05
= : : : :
] e AR .

£

E T . :
o .0 [
g I
¥ 1.05p = ° X
15._ +4
0¥ 5 0 5 10 15

L
Y0l RSO SRR U N
P b : : : :
£0.03f Foeeeendeee SRR L
o : : : :
i SR SR
3] : : : :

0.02f -~~~ Pereee e e i
0018l
0.01 - dyfig - p-deorennbonni] i

20

éim. PV z (cm)




	Contents
	Page 1


